She wanted to go to the party,
Answer:

| like both chocolate
Answer:

He didn't study for the exam,
Answer:

| want to play soccer,
Answer:

She is not only intelligent
Answer:

The movie was long

Answer:

| studied all night,
Answer:

He plays the piano
Answer:

You can either take the bus
Answer:

We should go to the store now,
Answer:

B2

she had too much homework.

vanilla ice cream.

he still got an A.

it's raining outside.

hardworking as well.

| still failed the test.

the guitar.

walk to the park.

we will run out of milk.



Answers

She wanted to go to the party, she had too much homework.
Answer: but

| like both chocolate vanilla ice cream.
Answer: and

He didn't study for the exam, he still got an A.

Answer: yet

| want to play soccer, it's raining outside.
Answer: but

She is not only intelligent hardworking as well.
Answer: but

The movie was long boring.
Answer: but

| studied all night, | still failed the test.
Answer: but

He plays the piano the guitar.
Answer: and

You can either take the bus walk to the park.
Answer: or

We should go to the store now, we will run out of milk.
Answer: or



